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BT 4 | A 5K 7 % > myT 4 | M 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 249 277 287 564 | » WHATS5 T H 513 594 595 1,189|% BT 7 T H 1,234 1,613 1, 462 3,075 |l A RT3 H 215 278 266 544
B W 2T B 371 406 400 806 | T~ WiEMT6 T H 382 409 427 836|%r BT 8 T H 491 615 609|  1,224|/h | 4,504| 5,367| 5,420| 10,787
B w3 T A 293 349 342 691 s 9,400| 10,776 10,655 21,431|# BT 9 T H 963| 1,165 1,061 2,226| _{RE1T H 100 106 107 213
FE4ET1T B 154 160 144 304 | IE 585 638 678 1,3I6[R/SHT1 T H 128 118 115 233| _RE2T H 313 366 372 738
FasET2 T B 98 84 86 170|% EHT 1 T H 313 405 385 790K JA BT 2 T H 346 388 387 75| RE3T H 265 309 337 646
PE4ET3 T B 128 152 176 328|% W72 T H 601 703 668 1,371 5 8,599 10,483 9,615 20,098| _{=RE4T H 127 130 148 278
£ L HT 280 268 295 563|% BT 3 T H 1,467 1,513 1,443| 2,956 |W 0BT 1T H 797 908 879 1,787| " {RE5T H 92 117 119 236
N HT 413 417 446 863|% F T4 T H 771 818 778 1,596 |30 A7 2 T H 289 373 342 TI5R #+ 1T H 76 80 83 163
fip L) 212 213 231 444k M1 T H 799 930 901 1,831 ({0 BT 3T H 225 262 268 530|3R 2 T A 128 146 147 293
1= T 129 122 137 259|k P 2 T H 329 413 402 815 [T M 4 T H 729 732 718|  1,450|R F 3 T H 122 128 109 237
* F W 176 215 218 433K 4 3 T H 686 841 869 1,710({rf i0 BT 5T A 716 736 714 1,450 |4 & A mT 182 168 201 369
= fF HT 449 469 521 990 |t A 423 392 463 855 T 6 T H 1,231 1,351 1,314 2,665(f & 1 T H 61 53 56 109
K o WE HT 515 556 572 1, 128 |4 52 420 507 550 1,057 [Jf 3 BT 7 T H 1,108 1,089 1,153 2242|180 &£ 2 T H 71 78 75 153
W/ kT 318 321 332 653[A #F F 1T H 270 331 330 661 [ BT 8 T H 799 884 737 L6218 &l 35 60 75 135
KB HET 518 575 564 1,139\ K % F2 T H 241 331 339 670 [ D BT 9 T H 931 878 954 1,832/ FH 1,572 1,741 1,829 3,570
HinfnE1T B 211 217 235 4524 ¢ 1 T H 513 730 710 1,440 [{r[ 0 BT10T A 855 771 756 1,527|= 1T A 400 280 320 600
HmEfnHE2T H 274 306 327 6334 F 2 T H 86 109 101 210 Ea 7,680 7,984 7,835 15,819|% [ 2 T H 87 98 94 192
HmEfiHE3T H 307 382 391 77314 F 3 T H 331 453 414 867|fE & 1 T H 185 202 212 414|855 [ 3 T H 246 184 183 367
Ft 5,095| 5,489| 5,704 11,193|4 ¢ 4 T H 572 756 706 1,462|#E #& 2 T H 966| 1,300 1,214 2,514/ K1 TH 95 123 100 223
B AKRTL T H 235 274 281 5554 3 5 T H 471 637 628 1,265 |8 # 3 T H 336 425 430 855|/h& AR2T H 49 57 57 114
By AmT2 T H 363 415 415 830 s 8,878| 10,507| 10,365| 20,872|4 H 1 T H 1,319 1,476 1,489  2,965|/h@ K3 T H 178 225 220 445
B KET3 T H 209 274 266 5403 # #F 1 T H 475 447 525 972(4 # 2 T B 978 1,102 1,179 2,281 (/N A4 T H 234 182 245 427
El1TH 698 709 729 1L4B|W H M2 T H 814 791 842 1,633(4 # 3 T H 877 991 973 1,964 |/~ K57 H 74 76 94 170
Ei2TH 723 885 868 L753|W & M3 T H 1,079 1,104 1,099 2,203(4 H#H 4 T H O R 1T H 202 163 204 367
EW3TH 388 511 524 1,035 |3 & M4 T H 733 698 690 1,388(4 # 5 T H 181 55 159 24| R 2T H 255 306 290 596
Ei4TH 786 855 957 L,8I2|W & M5 T H 979 963 973 1,936 G 4,842 5, 551 5,656 11,207(H R 3 T H 394 225 355 580
EW5TH 535 550 558 1,108|: & M6 T H 387 434 404 838 /) | 52,224 58,651 57,805[ 116,456 (/I G 2,214 1,919 2,162 4,081
E e T H 155 206 215 211 » 1T H 416 458 454 912|M 1 T H 347 435 395 830(p A1 T H 251 198 269 467
EW7TH 493 539 482 1,021[#R » fi2 T H 793 715 839 1,664/ 2 T H 424 474 494 968 A 2 T H 393 279 300 579
E 8T H 272 309 305 614|ff [ BT 1 T H 332 415 386 80L|4M 3 T H 436 539 542 1,081 A 3 T H 109 129 126 255
EW9TH 3 4 3 7|6 [ BT 2 T H 703 807 798 1,605(F1 HHET LT A 220 268 263 531(p A4 T H 59 57 57 114
KHET1TH 308 360 347 707 |fifi fd BT 3 T H 556 586 532 1, 118(Ffn HHET2 T H 283 338 356 694 A5 T H 74 72 77 149
RKHEWT2T H 359 344 323 667 |ffi [E BT 4 T H 463 443 433 876(fE # 1 T H 156 204 201 405|p% A 6 T A 37 47 48 95
RKHEBT3T H 304 397 375 772 Gl 7,730 7,861 7,975 15,836 |HF #F 2 T H 168 198 221 419\ A7 T A 70 84 83 167
K HEWT4T H 301 372 375 74708 BT 1 T H 1,174 1,434 1,320 2,754|HE 48 3 T H 175 225 210 435|p% A8 T A 101 123 97 220
K HEHBTS T H 311 349 369 718|%r MY 2 T H 757 959 835 1,794 |4 %5 4 T H 214 252 248 500 [/ 1,094 989 1,057 2,046
T WERT1 T H 664 754 767 1,521 8 #] 3 T H 1,507 1,700 1,501 3,201 |4 # 5 T H 498 623 646 1,269 |t 3E Ff & & 9,384 10,016 10,468 20,484
T WHET2 T H 531 634 603 1,23708r BT 4 T H 711 826 805 1,631 |4 %5 6 T H 503 659 584|  1,243|& 2+ 61,608| 68,667| 68,273| 136,940
T WERT3 T H 398 500 427 927(%r T 5 T H 1, 190 1,536 1,397 2,933 |4l AR BT 1T H 370 444 438 882
T WERTA T H 469 532 444 976(%¥r BT 6 T H 98 129 123 262\t ART2 T H 495 430 556 986




